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w2bA S| Blol= (a+1)(a+2) =a® +3a+2 :M.)




3.

(x=y+2)(x+y+2z)5 AMH7] Asl 7HE

O {(x+y) -2} {(x+y) +2}
@ {(x-y) -z} {(x+y) -2}
@ {x-0+}{x+0-2}
@{(x+2-y}H{x+9+}
® {(x-2) -y} {(x-2) +y}
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4. (2x+b)P=a+4x+1 4 W, 5 a b Fa+b o P2?

® 1 @ 2 ® 3 @1 @)

(2x 4+ b)? = 4x? + 4bx + b? = ax®> + 4x + 1
a=4,b=1
La+b=4+1=5
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(2x-a)P =4+ 12x+b LW, a+b G2 (H a, b=

@ -12 @ -6 @6 @ 12
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(2x)2 —2x2xXa+ (—a)? = 4x* —dax + a® O|BE
—4a=12, a=-3

b=da’>=9

a+b=(-3)+9=6
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(3x—2)% — (2x + 2)(2x + 5) S AA5H?

@5x2 —-26x—6 @ 5x%2-25x—-12
@ 12x%2 - 25x+ 10 @ 12x% - 20x+ 20

® 12x2 - 6x-20

(3x)2 =2 x 6x + (-2)? — (4% + 10x + 4x + 10)
=9x? —12x+4 - 4x? - 14x - 10
= 5x% - 26x — 6°] 22 T2 (DH |},




7. x(x+2)(x=3)(x=5) =x* +ax® + bx* + cx WA F5a, b, ¢ &
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x(x+2)(x—3)(x—5)

= {x(x = 3)H(x +2)(x - 5)}

= (x? = 3x)(x% - 3x - 10)

x% = 3x =t 2 A ZSHH #(r - 10) = 2 - 10t

t=x* - 3xE At Aot x* - 6x° - x? + 30x
w2t g+ b+ c = -6 -1+ 30 = 23°|t}.
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9. (x-3y+2)* AMstH?

@x2+9y2+4—6xy+4x—12y
@ x?+43y? +4 - 6xy +4x— 12y
@ x? 4 3y? + 4+ 3xy — 2x + 6y
@ x2+9y? +4—-3xy+2x— 6y

® x2+3y? +4-3xy+2x -6y

B

x -3y =t2}otH
(x=3y+2)?=(t+2)?
=r+4+4

= (x-3y)? +4(x-3y) +4
=x? - 6xy+9y*> +4x - 12y + 4




10. (3x-2)(7Tx+1) < AT 427
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D 21x% +11x-2 @ 21x2+9x+2

@ 21x%2 +21x-11 @21x2 —11x-2

® 21x2-11x-21

(Bx=2)(Tx+1) = (3X7)x? +{3Xx 1+ (-2) x Thx+ (-2) x 1
21x% —11x -2




